2 8 6 i B No.
Z % M #H - B =x
EHRES = B B & & W/(nd-K)]
1 HNEREMEER ol 23. 000
2 NEREIMEER ao2 34.884
3 NEREIMEER 003 17. 442
4 NEREIMEEE il 9. 000
5 REEMEER o2 8.721
6 REEMEER o3 6.977
BERES PR O RER K /W]
7 ERBEE 0.070
8 ERBHIE 0.150
9 TERBHESR 0. 052
10 ZEREBIER 0.198
BERES #t # W/ (K]
11 ] 390. 000
12 SA4f 45. 000
13 FILI =YL 210. 000
14 BRE (ER) 3.100
15 BH #&s) 1. 400
16 B LE 1.500
17 WELE 0. 900
18 O—LE+iE 1.000
19 KILURE T1E 0. 500
20 FbF 0.620
21 PCavyly—k 1. 500
22 L@ — b 1. 400
23 gE2a 91—k 0. 780
24 gE5aa29)—k (ALC) 0.170
25 avHy—rJovy (&E8) 1.100
26 avyy—rJavy @) 0.530
27 ELAIL 1.500
28 TS5R4%E 0.790
29 A5 - SRKR—FK 0.170
30 Lo< Ly 0. 740
31 +EE 0. 690
32 HSR 1.000
33 crEg 1.300
34 NADEE 0. 640
35 nhid 1.000
36 BRI - )/ UL 0.190
37 FRP 0. 260
38 FRAI7ILME 0.110
39 yrpinEdis ] 0.210
40 s 0. 150
41 aRE 0.070
42 H—Ry ME 0. 080
43 Kt (ER) 0.190
44 A (F2) 0.170
45 Kt (BE) 0. 140
46 AR 0.190
47 BB AR 0. 056
48 =T R— R 0. 060
49 IR E R 0. 140
50 TR E AR 0. 220
51 =T 4 7 IR—EK 0.170
52 KEEA MR 0.190
53 LILE—XT7A 15— 0.044
54 T5RH—)L (2 4K) 0. 042
55 GSAH—IL (832K) 0. 040
56 0wy H—)UREH 0.042
57 04 59—+ 0. 051
58 0w —)URER 0.064
59 RYRFLUITA—L (E—=X) 0. 047

(55750 6 &)




2 8 & & B No.

B & K B B 8 £ 0 — E (1/1)
HhEE - EIR A7 T R WEE - NASR RHF K
RBBE REBBE K| E~NMRECSC BBBE MBBE
B 5 K | BAT| BB s5z0n g5 o I3MVE I3k BB | KBS K

LAy L& Y

(W/(uf-K)] (W/(nf-K)] | [W/(ni-K)] W/ (i -K)] (W/(uf-K)]
oW1 0.6 I 0G1 6.0 6.0 1.00 1.00 w1 2.8 | Ci1 0.8
ow2 0.9 I 062 6.0 4.2 1.00 . W2 1.9 IF1 0.6
ow3 1.0 I 0G3 5.8 5.8 0. 61 0. 61 IW3 2.0 IF2 2.1
ow4 0.5 I\ 0G4 5.9 5.9 0.68 0.45 W4 2.1 IF3 2.9
RF1 0.4 v 0G5 3.4 3.0 0.56 0.44 IW5 2.2 IF4 1.1
RF2 0.8 VI IW6 1.7 IF5 2.8
W7 1.9 IF6 1.5

IW8 2.1

IW9 1.7

IW10 2.0

W11 2.5

W12 2.7

(570 6 FhR)




B 8 7 i = No.
. N . 1 l 1 -1
® B B/ E K=(—+Z—+27’a+ )
a; A a,
- = ~ o - = - . o
L i #om | BE e NP BB BRAOFE| i
o 23.000 @il 9.000
BEEER | 0o BEEE | ap
a o3 a3
B & |sMzEE ) | RiEEE
R = R & #t % Tl x| te | K| W OB
= [m] | (W/meK1 | [nf-K/WI | W/t K)
oW1 1| o—LELTE 1.00000| 1.000] 1.000 [ 18]
2| wEILHY—F 0.25000| 1.400| 0.179 [ 22]
3| ERBRMEN 0.070 [ 7]
| g4 |4 I¥IU—RTRYY @D 0.10000| 0.530 | 0.189 [ 26]
(R 215 ®LAL 0.02000| 1.500| 0.013 [ 27]
SN ‘] RREMEEE ail 0.111 [ 4]
ﬁgﬁf .
0
PN
A |
R —
NS ¢
/;/\\/'f B
MONV
1.562 | 0.6 |E#y=m
ow2 NEEMEMEER aol 0.043 [ 1]
1| T3y y—t 0.02000| 1.400 0.014 [111]
2| EEILHY—F 0.15000| 1.400 0.107 [ 22]
3| KYRFLUIA—L 0.02500| 0.036| 0.694 [120]
1 345 4| ERUBEMER 0.070 [ 71
| l 5| BISMR SRK—R 0.01200| 0.170| 0.071 [ 29]
RRERMER ol 0. 111 [ 4]
' I
' I
|
! |
[
| |
RCISORY RF LT+ —L 1.110 0.9 |EJ=II
on3 NEREMEEE ool 0.043 [ 1]
1| 240 0.01000| 1.300| 0.008 [ 33]
2| LGN 0.02000| 1.500| 0.013 [ 27]
2 B 3| BV Y—F 0.18000| 1.400| 0.129 [ 22]
1 45 4| KYRFLUT+—L (E—X)  0.02500| 0.047| 0.532 [ 59]
5| ERBRMEH 0.070 [ 7]
: 6| BZSHR - IRK—K 0.01200| 0.170| 0.071 [ 29]
NEEMEEE il 0.111 [ 4]
3
0.977 | 1.0 |E8-m

o0 6 &)




2 8 1 iH B No.
A2 R m B B @ BE X (s G) O & F
BRI ) &£ & ST [mm] B Z| B 1% b’ tan¢ | tany |[tany ||y "h|x D] SG
W = 800 oms| 6225 350 stk | kol 0.00| 0.00| 0.00
H = 2900 "= 900
W N b = 6225 = 1500 128 6225 350 sk | dokokok 0.00/0.00 0.00
Vi = 350 V2 = 350 1485 6225 350 2.07| -0.97 0.23] 0.95 0.22
bl = 0 b2= 0
1 68| 6225 350 0.68| -0.40 0.97| 0.98/ 0.95
W = 800 o 5400 715 *okokok *okokok 0.00|0.00/| 0.00
H = 2900 N = 900
o | son b - 5400 - 1000 128 5400 0 3.24| -0.22 0.00| 1.00| 0.00
Vi= 0 V2= 75 1 48| 5400 75 2.13| 1.03 0.30| 0.99 0.29
bl= 0 bz= 0 1 68| 5400 75 1.67| 2.47 0.66| 0.97] 0.64
W = 800 o 6225 350 sokodok sokokok 0.00| 0.00| 0.00
H = 6000 N = 900
128 6225 0 0.00| 0.00 0.0
w2 WNW b = 6225 h = 1500 H# 22 3 il 0]0.00
Vi = 350 V2 = 350 148 6225 350 2.07| -0.97 1.00| 0.95| 0.95
bt= 0 bz= 0 168 6225 350 0.68| -0.40 1.00| 0.98 0.98
W = 800 o B 5400 75 *okokk *orokok 0.00| 0.00| 0.00
H = 6000 h = 900
o | s b~ 5400 1500 128 5400 75 3.24| -0.22 1.00| 1.00| 1.00
Vi= 75 V2= 75 148 5400 75 2.13| 1.03 1.00| 0.99/ 0.99
b1= 0 b2= 0 168 5400 75 167 2.47 1.00| 0.97 0.97
W = 2000 o 5300 15 *kokok *okokok 0.00|0.00/| 0.00
H = 3300 N = 0
o | so b~ 5300 100 128 5300 75 3.24| -0.22 0.00| 1.00| 0.00
Vi= 75 V2= 75 148 5300 75 2.13| 1.03 0.00| 0.99 0.00
bl= 0 bz= 0 1 68| 5300 75 1.67| 2.47 0.00| 0.97/ 0.00
W = 0 o 5300 75 sokodok sokokok 0.00| 0.00| 0.00
H = 3300 N = 900
a | son b~ 5300 1500 1 28| 5300 2075 3.24| -0.22 1.00| 0.91/ 0. o1
V1 = 2075 V2= 75 148 5300 75 2.13| 1.03 1.00| 0.99/ 0.99
bt= 0 bz= 0 1 68| 5300 75 1.67| 247 1.00| 0.97/| 0. 97
W = 2000 o) 5300 0 *kokk *okokok 0.00| 0.00| 0.00
H = 3300 = 0
128 0 0 24| -0. 0.00| 1.00 0.
S b - 5300 o = 2400 B | 530 3.24| -0.22 1.00| 0.00
Vi= 0 V2= 0 148 5300 0 2.13| 1.03 0.00| 1.00| 0.00
bl= 0 bz= 0 168 5300 0 167 2.47 0.00| 1.00/ 0.00
SG =(yh) + (xb)
B=b+b1l+b2
x=B—b'—V - |tany |
y=H—h —W -tan¢
x b, y. h <0 DBEIE SG =0
x. b, yv. h >1 OBEE SG =1
b’, V  BEMNSRTKBAERIZHDIEE b2, VI w+0.85d + | tany ‘
SGIlE.1 —

BRIZHDEET b1, V2
D BERIRHANEE SMEFER K 2-16 285

tany, tan¢

/
MNEDHZEIFO. 1LUEDHEEEA

(55750 6 &)




B B8 f1 B OH No.
EMEEZE ETDITC] (Z]ig28°C) Hh X R
BAAT I il I\

F R0 BSI| OB | 1285 | 14B%F | 16B% | OBF | 12B% | T4B% | 16BF | OB | 1285 | 14B% | 1685 | OBF | 128% | 14B% | 168%
B & 2| 4] 6 6 1 2| 4| 5] 2| 2| 2| 3
X F 11| 26| 30| 28| 5| 14| 21| 24 70 8| 11 ] 15

N 4 6| 8| 8| 2| 4| 5, 6| 3| 3, 4| 4
NNE 8| 8| 8] 8| 4| 6 7 7 3| 4] 5 6
NE "n| 10 9| 9| 5 9 9| 9| 4] s 7 7
ENE 14 13 10] 9 6| 11| 11| 10| 4] 6| 8| 8
E 15| 15 | 11 9 70 12 12 1 40 7 9] 9
ESE 14| 16| 12 10| 6| 12| 12| 11 41 7 8| 9
SE "Ml 16| 13 10 5| 1] 12| 1 41 6| 8| 9
SSE 70 14| 13 10 3] 8| 10| 1 4] 5| 6 7
s 3| 1| 14 12 2| 5 9| 10| 3] 3| 5 6
sSsw 3| 8| 13 15 2| 4| 7| 1 4 4| 4| 6
sSwW 3 70 13 18] 2| 4] 71| 1 4 4| 4| 6
WSW 3| 6| 12 19, 2| 4| 6| 1 5| 4] 5 6
w 3| 6| 11| 18| 2| 4| 6| 10| 5| 4| 5| 5
WNW 3| 6| 10 16| 2| 4| 6| 9| 5| 4| 4] 5
NW 3| 6| 8| 13| 2| 4| 5| 8| 4| 4| 4] 5
NNW 3| 6| 8] 10 2| 4| 5| 7 3| 3| 4] 4
BHA4T \'

F R0 B | OB | 12B% | 14B% | 16B% | OBF | 12B% | 14B% | 16B%
B & 2 30 3| 4] 2 2 3| 4
X F 70 13 17 20 7 11| 15| 18
N 3| 4| 5| 6| 3| 4] 4| 5
NNE 4| 5| 6 70 4] 5 6 6
NE 5 7 8| 8| 5 7 7 7
ENE 6 9| 9| 9| 6| 8| 9| 9
E 6| 10| 10 10| 6| 9| 9| 9
ESE 6| 10| 10 10, 6| 9| 10| 9
SE 5 9| 10| 10| 5| 8| 9| 9
SSE 4 7 9| 9| 4] 6| 8| 8
s 3 51 7 9| 3| 5 6| 8
Ssw 3| 4] 7 9| 4| 4] 6| 8
sSW 3| 4] 6| 9| 4| 4| 6| 8
wSsw 4l 4| 6 9| 4| 5 6| 8
w 4l 4| 6| 9| 4| 5] 5 7
WNW 3| 4| 5| 8| 4| 4] 5 7
NW 3| 4] 5 70 4| 4] 5 6
NNW 3| 4| 5| 6| 3| 4] 4| 5

RENEEAN2ELELDHE. ROMEIC 28—HRFAER) M2 5,

o0 6 &)




B2 B8 1 B OE No.
HASAEEZLEBHFBEDRFT., KBEEE. KBAM Hh X B
HSAAEEZEBFHEMB I [W/n] FHAORENTORGEEDIEE (tan @) RUEEICX 3 A KRIGHRIADIERE (tan y)

is3 Z OB% | 128% | 148F | 168% B Z orE 128 1485 168%
B = 48 51 50 43 tang 17.92
N
KoOE 604 793 666 | 378 tany -124.17
N 48 51 50 43 tang 7.78
NNE
NNE 65 51 50 43 tany 6. 60
Vil N E 222 51 50 43 tan g 2.25
NE
ENE 383 51 50 43 tan y 1.66
E 466 51 50 43 tang 1.45
ENE
ESE 474 59 50 43 tany 0.74
SE 410 106 50 43 tang 1.20
E
SSE 266 164 50 43 tany 0.25
S 91 199 | 124 43 tan g 1.18 14. 82
Vil ESE
SSwW 48 | 197 | 273 | 1719 tany -0.15 4.57
SwW 48 | 159 | 380 | 376 s tan g 1.36 5.54
E
iz | wsw 48 | 100 | 417 | 490 tany -0. 60 1.44
W 48 56 | 385 | 533 tang 1.96 3.76
SSE
WNW 48 51 283 | 493 tany -1.36 0.64
NW 48 51 134 | 382 tan g 4.85 3.22 4.01
S
N NW 48 51 50 | 188 tany -4.05 0.18 2.51
tan g 3.24 2.13 1.67
sSsw
tany -0.22 1.03 2. 47
N tan@ 3.86 1.61 0.89
v sSW
tan y -0.70 0.43 1.02
tang 5.87 1.48 0.68
WSW
tany -1.56 0.01 0.42
t.
W ang 17.97 1.60 0.63
tany -5.58 -0.40 0.01
tang 2.07 0.68
WNW
tany -0.97 -0.40
tang 3.75 0.88
NW
tany -2.32 -0.98
tan g 105. 97 1.61
N NW
tany -71. 49 -2.36

o0 6 &)




T774IL% :

Mech_R06. apacm

. WA - RS
REAARNEUHSEIG - AT

BYALLE

10.5 °

. TSI R OEN

7540 R EERYT IRNBRGHE
OKIZHEITET 514 2 FDEEAE

. —h&=EIE
BEWE . FTE
FRiEh ©  HTHED
A & FEr
B & gar s —bE
EmEmFE : 3132.00 ni

ok
BRNEICHE S EETDEN

ENREESHEMR . U

. RETRAENFHE—REOEREH

I}
DB RH
[C] [%]
9l 392.1 67
12K 34,5 59
gl 1ARE 348 59
168 337 62
= 1% 28.0 45
2« 28.0 50
A 3k
4%
EMEEEDMHIEE
9 M 1 20
0.0 0.0
. EEAWTERAhGEE
HhTRREEER MU 1 [ 9.0
W2 W -
MR 3P
T 4 p —
HF SR
X FRERA 12.7

h

4 [
BEFDODEFIZTH

T

116 W/mi
WAV TV S

#

V4

[kJ/kg@A)] [kg/kg(DA)]

84.9
87.7
89.0
86.5

55. 4
58.5

1 40
0.0

olololelelel

0. 0206
0. 0207
0.0211
0. 0205

0.0107
0.0119

1 6
0.0

1

AE LS
{1

NR[ARICERIBMBEER

&
DB RH
[C] [%]

2.2 45

(LA

-0.5 36
19.0 40
19.0 40

2ARERAIZEER - 1T

HA
h x
[kJ/kg (@A) ] [kg/kg(DA)]

7.2 0.0020

4.0 0.0018

32.9  0.0054

32.9  0.0054
THhRwn

L7

RESEMA - U

(5550 6 FhR)



pacm

Mech_RO06. a

T774I1L4A :

L =
X JE

i

BREEZA1TD

6.

5B

A

e

[C]

21.2

0.0
10. 6

0.0
10. 6

10.6

21.2

10.0

168

7.3
1.0
4.0

1.0
5.0
6.0

7.3
0.0

148

7.3

1.0
4.0

1.0
5.0
6.0
7.3
0.0

128

7.3
1.0

4.0

1.0
5.0
6.0

7.3
0.0

o

7.3

1.0
4.0

1.0
5.0
6.0
7.3
0.0

iy

o

C
W1

W2

W3

F1

F2

F3

F4

Fb

No.

(5550 6 FhR)



TJ7A4I)4E : Mech_R06. apacm

7. BEEH
fE 2 EiE ;201 BE . SEs
miE: 100.5 m XHE: 2.46 m EFFE: 246.2 m' EFERS: &5 -EREIL
XKASSICKBPEEEEDHIE : ML LR\ MLl — 2ABERAZEER - 1T
FREHE - H DB= 28.0 °C RH= 45% h= 55.4 kJ/kg(DA) x= 0.0107 kg/kg(DA)
7S DB= 19.0 °C RH= 40 % h= 32.9 kJ/kg(DA) x= 0.0054 kg/kg(DA)
B ERCE 77131
BEAREaR . i fE 0E [m] S [m] 71 ] BEmAE [md] SG A 4T fRE
NNE  0G2 5.40 X 1.50 = 8.1 X 1 =
NNE  OW2 5.78 X 3.30 — 8.1 = 11.0 Y
WNW  0G2 22.13 X 1.00 = 22.1 W 1 Y
WNW  OW3 17.40 X 3.30 — 2.1 = 35.3 FEE
SSW  0G2% 5.40 X 1.50 = 8.1 S2 1 e
SSWOW3 10.96 X 1.00 — 0.0 = 11.0 fE e
IF4 5.78 X 7.44 — 0.0 = 43.0 e
H IF5 5.78 X 9.96 — 0.0 = 57.6 b5
w3 2.40 X 2.45 — 0.0 = 5.9
BEAGR - B wmrir—r~—f BEEAMSE BEEAME —%
WHEE —— W/& v — B HEEAS) —— W
FXAEHEREE 500 1x  VHEEET) 12.00 W/m £RE 1.00
ANABER : ABZEE  0.00 A/ N#& 40 A BEEAm SR
BHENE 55 W/ A BEE 62 W/A EEANE — %
HEREH - FHSHE 5 W/ni AR ¢ 0.60 B 0 W BfiEE ¢ 0.60
ZOAfhBEEA 0 W ZOfhiEEn 0w
P A o B T 5 8 4 s mRAamE —%
EOMEFEANEE ZOMEEAMNE — %
NR[ER - BESE 30.0m'/(h N) ANKEEEAS) —— m’/h
B R % % REZHHER —— %
FTEFER

=l oo A ’9‘// HAERE

jﬂi ssif 47L > /@@*’a Al5E
Wiziva Yo OfESE

FTEXFERE  2.400 /(-
— FTEFEEE 0.000 n¥Y(n-h

A A
BBy
FERE

oy

R
=
[

8.0 m/s
AL NE Wy v ofEEE ghEN
T WNW By v ofEEE BlEN

FTEXFERE  2.700 w¥/(mg-h)
B JT&xFEE 2.700 n¥/(ni-h

AT AT
BB
FE R

oy

HERE - 2 AHEE 110 FEWEAMRE 1.05 RGBSR 1,10
A REMREC 1100 HIGEERLREL 110

SEAB : NNE OWNW
(56 E)



2 8 7 H B No.
EWYWEL M | ETE
fr & i RRAR
A & | BEM
1# & | #kFrar o) — kg ARiE LS
B | E 4 WE 1 R
K& B 3132.00 o
A B BE B
B IRGEFE | M RHRRE e xR | S ERREE | AR %R R BT 45t
DB RH h X DB RH h X
[C] (%] | k/keO] | ke/ke@] | [°C] (%] | 0g/keO)] | [ke/ke )]
9 B 32.1 67 84.9 | 0.0206 2.2 45 7.2 | 0.0020
R OE — 128 34.5 59 87.7 | 0.0207 |(LITF&RS)
% e 148 34.8 59 89.0 | 0.0211 0.5 36 4.0 | 0.0018
168 33.7 62 86.5 | 0.0205
1% 28.0 45 55.4 | 0.0107 19.0 40 32.9 | 0.0054
. 2% 28.0 50 58.5 | 0.0119 19.0 40 32.9 | 0.0054
T RN
3%
4 x
i} ) 1R
& O R (M T OE
9.0 °C
#h o oE E
B TR 12.7°C
| BB BRTROK (ZMRE) . EoF«| 120 | db-d4bE - 4 - R - FmRSLE 1.10
AR AR
RE - REFEAIAEE 1,05 | EEMAIoMEE 1.00
B - KEARE B 10.5 °
N
W E
o ¥
148
128
S
#h X | ®EE
9 B 128 140 168
KB SE 494° | 725° | 56.0° | 32.1°
AMBH M -716.1° | 10.2° | 68.3° | 90.5°

(550 6 FhR)




B 8 & ¢ &5 No.
# & K & 7 (BE-ER) -] #A £ -1
i HBBE | R el SECEE | B FE
B |54 E | R 2 HmBEK BE4( EW xo EMEEE ETD [C] %W xo nngo% R
W/(nf+K)] BE[Cl OB | 128 | 1485|168 iR [CllAt [C]
BI INNE | 5122 | OW2 0.9 |m | 280 %01 60] 701 700 44, 1.00
40| 60| 70 7.0 16.8
BI B | 4MEE |OWI 0.6 | m 280 00 00] 00] 00 4, 1,00
0.0| 00| 00 0.0 10.0
1 /sB | siEE O3 10 |m | 280 1O 200 40 50 .4, 1,20
10| 20| 40 50 16.8
1 INNE | #iEE |OW2 0.9 |m | 280| 40 60 707 700 .4, 1.10
40| 60| 70 7.0 16.8
1w | shEE | ows 10 |3 280 1| 65] 68] 57/ 4, 1,00
41| 65| 68| 57 16.8
1 ssw | siEE |ows 10 |m | 280 20 401 700 TLO] 44, 1.05
20| 40| 7.0 110 16.8
2 |NNE | sbEE | OW2 0.9 | m 280 40/ 607 70] 10/ 4, 1.10
40| 60| 70 7.0 16.8
2 |WNw | sbEe O3 1.0 | m 280 20/ 407 60] 90 4, 1.10
20| 40| 60 9.0 16.8
2 |ssw | shEe | ow3 10 |m | 280 %0 400 10] WO} 4, 1.05
20| 40| 70| 110 16.8
3 INNE | shEE | OW2 0.9 |m | 280 %01 60] 70/ 700 44, 1.10
40| 60| 70 7.0 16.8
3w | sbeE O3 10 |m | 280 201 401 60] 90| .4, 1.10
20| 40| 60 9.0 16.8
3 s | sbeE | OW3 1.0 | m 280 20/ 407 70] .00 4 1,05
20| 40| 7.0 11.0 16.8
4 [NNE | 5hEE | OW2 0.9 |m | 280| 40 60 707 700 4, 1.10
40| 60| 70 7.0 16.8
4 [WNW | 5hEE | OW 10 |m | 280 20| 401 607 9.0/ .4, 1.10
20| 40| 60| 9.0 16.8
4 s | sbEE oW 10 |m | 280 20 401 10} 1LO] 44, 1.05
20| 40| 7.0 11.0 16.8
4 BB |RF1 0.4 | v |« o280 | 0] 801 T.OJ 1500 4, 1.20
70| 80| 11.0] 15.0 16.8
4 iR |RF2 0.8 |vi | 280 | 0] 1.00 1500 180} 4, 1.20
70| 1.0 15.0] 18.0 16.8

o6 Fh)




2 8 6 i B No.
5 5 2 m B & & & SG=1 ¢G2n=1G-SC
SG<1 qG2n={(IG—IGS) -SG+1GS} - SC
- wr | K RESC, h' 3 Jiict = iS5 1A .

B | A4 e = %, i 4 BEAUMRESC, 1 I EmBBEESRESG| A XEASEAR aG2n 1w/ & =
O 12K 148|168 o 12K 14| 16/

B |MNE BlOT | 061 SC| 1.00| 1.00| 1.00| 1.00| IG| 65.0| 51.0| 50.0| 43.0 X
SG| 0.00| 0.00| 0.00| 0.00 |aG2n| 48.0| 51.0| 50.0| 43.0

Bl INE (B2 | &= 061 SC| 1.00| 1.00| 1.00| 1.00| IG| 65.0| 51.0| 50.0| 43.0 X
SG| 0.00| 0.00| 0.00| 0.00 |aG2n| 48.0| 51.0| 50.0| 43.0

Bl NVE |BIB | 4k 061 SC| 1.00| 1.00| 1.00| 1.00| IG | 65.0| 51.0| 50.0| 43.0 X
SG| 0.00| 0.00| 0.00| 0.00 |aG2n| 48.0| 51.0| 50.0| 43.0

1 s |01 el 03 SC| 0.61| 0.61| 0.61| 0.61| IG| 48.0|197.0|273.0|179.0 (s3]
SG| 0.00| 0.00| 0.00| 0.00 [aG2n| 29.3| 31.1| 30.5| 26.2

1IwE e | s 061 SC| 1.00| 1.00| 1.00| 1.00| IG| 65.0| 51.0| 50.0| 43.0 K]
SG| 0.00| 0.00| 0.00| 0.00 |aG2n| 48.0| 51.0| 50.0| 43.0

1 ImE e s 061 SC| 1.00| 1.00| 1.00| 1.00| IG| 65.0| 51.0| 50.0| 43.0 X ]
SG| 0.00| 0.00| 0.00| 0.00 |aG2n| 48.0| 51.0| 50.0| 43.0

1 IWmE e s 061 SC| 1.00| 1.00| 1.00| 1.00| IG| 65.0| 51.0| 50.0| 43.0 K]
SG| 0.00| 0.00| 0.00| 0.00 |aG2n| 48.0| 51.0| 50.0| 43.0

i s 15 | mme= 0w SC| 1.00| 0.58| 0.58| 0.58| 1G | 48.0|197.0|273.0|179.0 (sS4 ]
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